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RTS: All structured instances,   chaos=1
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RTS: All structured instances,   chaos=2
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RTS: All structured instances,   chaos=5
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RTS: All structured instances,   chaos=6
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RTS: All unstructured instances,   chaos=1
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RTS: All instances of size 60,   chaos=1
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RTS: All instances of size 60,   chaos=2
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RTS: All instances of size 60,   chaos=3
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 1.2 1.5 1.8 2.1 2.4
Tincr

 0.2

 0.4

 0.6

 0.8

Tdecr

 0

 0.01

 0.02

re
la

tiv
e 

er
ro

r

RTS: All instances of size 60,   chaos=6
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RTS: structured instances of size 60,   chaos=1
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RTS: structured instances of size 60,   chaos=2
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RTS: unstructured instances of size 60,   chaos=1
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RTS: All instances of size 80,   chaos=1
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RTS: structured instances of size 80,   chaos=1
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RTS: unstructured instances of size 80,   chaos=1
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RTS: All instances of size 100,   chaos=1
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RTS: structured instances of size 100,   chaos=1
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RTS: unstructured instances of size 100,   chaos=1
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RTS: Structured instance 1 of size 60,   chaos=1
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RTS: Structured instance 2 of size 60,   chaos=1
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RTS: Unstructured instance 1 of size 60,   chaos=1
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RTS: Unstructured instance 2 of size 60,   chaos=1
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RTS: Structured instance 1 of size 80,   chaos=1
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RTS: Structured instance 2 of size 80,   chaos=1
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